T A i TS

FSF [A] 5 74 525 1)L 904 4 X FRR15m F&F [B] 254 %R 54 )L 9044 X [4RI15m
. T6/90% A X x 1848 1R T20/9094 X x 194

(TS : 3A/T6 (Fvy THE) x 4K B (FILT) : 60f/20 (FvvFHE) x 3%
‘% (E2f4E) + L2000 x 24z b B (EXfFE) - L2000x 4y b

g (ERHE) - L1000 x 242 & 4 CRE] 8- (RE)

B ke [RE] #-#%: [XE] W . (R v —7

Witk : U] >v—7

S| BEECB LI T x v REGiE

AR B o s o

BifECBE(Z 7 1 L RIEE i
PN - P ] PEANT = R 77

BUIRBL FERIBIIC X B RO P75 2 5 0 O AE L B AT S0 E 5,
B T, BB S8 THE 2 CBOE T OT, BUAVIE  REOTIROR S, %, ALCBECRLET, 2019-7-626928




